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Question Paper Code : 7477
M.A. (Semester-II)  Examination, 2018

ECONOMICS
[ Third Paper ]

( Econometrics-Theory & Applications-II )
Time : Three Hours] [Maximum Marks : 70/100

(as per eligibility)
Note : Answer five questions in all. Question no. 1 is

compulsory. Besides this, attempt one question from
each Unit. Marks are indicated against each question.

uksV % dqy ik¡p iz'uksa ds mŸkj nhft,A iz'u la- 1 vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u dhft,A izR;sd iz'u ds lkeus

vad fufnZ"V gSaA

1. Write short notes on the following : [3x10=30]
fuEufyf[kr ij laf{kIr fVIIkf.k;k¡ fyf[k,%

(a) Perfect multicollinearity
iw.kZ lejSf[kdrk

(b) Specification error
fof'k"Vhdj.k =qfV

[P.T.O.]
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(c) Systematic vs random error
O;ofLFkr cuke ;kn`fPNd =qfV;k¡

(d) For a regression model Y = X  +Ui, find the value
of ̂ .
izfrxeu ekWMy Y = X  +Ui ds fy;s ̂  dk eku Kkr

dhft,A

(e) In a general linear regression model, what does
the assumption 2u)uu(E   implies.

,d lkekU; jSf[kd izfrxeu ekWMy esa ekU;rk 2u)uu(E 
dk D;k vk'k; gS \

(f) Why is the consumption line smooth in the Life
Cycle Hypothesis ?
thou pØ ifjdYiuk esa miHkksx js[kk fufoZ/u D;ksa gksrh

gS \

(g) In Jorgensen's model of investment, specify the
factor on which rental value of capital stock
depends.
fuos'k ds tkSjxsUlu ekWMy esa mu dkjdksa dks mfYYkf[kr

dhft, ftu ij iwathxr LVkWd dk fdjk;k ewY; fuHkZj

djrk gSA
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(h) x1, x2, x3 are three correlated variables where
s1= 1, s2=1.3, s3=1.9 and r12= 0.370, r13=-0.641,
r23 = -0.736 compute r13.2.
x1, x2, x3 rhu lglfEcfU/kr pj gSa] tgk¡ s1= 1, s2=1.3,
s3=1.9 rFkk r12= 0.370, r13=-0.641, r23 = -0.736,
r13.2 Kkr dhft,A

(i) In part (h) of the question if x4= x1+ x2 then obtain
r42.
iz'u ds (h) Hkkx esa ;fn  x4= x1+ x2 rks r42 Kkr
dhft,A

(j) Prove that )r1(rrR 2122 2.13212223.1  .

fl) dhft, % )r1(rrR 2122 2.13212223.1 
UNIT-I / bdkbZ-I

2. Derive the M.G.F. of the Binomial distribution. From the
M.G.F. also compute the mean and variance for this
distribution. [10]
f}in forj.k dk M.G.F. O;qRiUUk dhft,A M.G.F. dh lgk;rk
ls bl forj.k dk ek/; ,oa fopj.k Hkh Kkr dhft,A

[P.T.O.]7477/400 (  6  )

lEcU/kksa ls izkIr gksus okys ifj.kkeksa dks O;qRiUUk dhft;s tksfd

dqtusV ,oa xksYMfLeFk ds }kjk miHkksx ,oa vk; ds e/;

vuqHkotU; fu;ferrkvksa ds voyksdu dks iznf'kZr djrk gSA

9. How is permanent income measured ? Use Koyek's
transformation to explain the Friedman proportionality
hypothesis between consumption and income. [10]
LFkk;h vk; dks dSls ekik tkrk gS \ dks;d :ikUrj dk iz;ksx

djds ÝhMeSu dh vk; ,oa miHkksx ds e/; vuqikfrd ifjdYiuk

dh O;k[;k dhft;sA

----- x -----
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3. What do you understand by hypothesis in classical linear
regression model. State the steps in testing of hypothesis
using the confidence interval approach. [10]
izfrf"Br js[kh; izfrxeu ekWMy esa ifjdYiuk ls vki D;k

le>rs gSa \ vkRefo'okl varjky n`f"Vdks.k dk iz;ksx djds

ifjdYiuk ijh{k.k ds pj.kksa dks fyf[k;sA

UNIT-II / bdkbZ-II

4. (a) Prove that : 223213
2313123.12 r1r1

rrrr 
 [5+5=10]

n'kkZb;s fd % 223213
2313123.12 r1r1

rrrr 


(b) Prove that : 223
231312213212223.1 r1

rrr2rrr 


n'kkZb;s fd % 223
231312213212223.1 r1

rrr2rrr 


5. In the regression model, yi = a1.23 +  b12.3 x2i + b13.2 x3i ,
find the value of regression coefficient b12.3 and
b13.2. [10]
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izfrxeu ekWMy esa yi = a1.23 +  b12.3 x2i + b13.2 x3i

b12.3 ,oa b13.2 izfrxeu xq.kkadksa dk eku Kkr dhft;sA

UNIT-III / bdkbZ-III
6. State the tests for detecting multicollinearity describing

any one test in detail. And also discuss the
consequences of multicollinearity.  [10]
cgqlejSf[kdrk Kkr djus ds ijh{k.kksa ds fy[krs gq;s fdlh ,d

ijh{k.k dh foLrr̀ O;k[;k dhft, rFkk cgqlejSf[kdrk ds izHkkoksa

dh O;k[;k Hkh dhft;sA

7. Explain the different types of specification error and also
discuss the consequences of specification error. [10]
fof'k"V =qfV ds fofHkUUk izdkjksa dks le>kb;s rFkk fof'k"V =qfV ds

izHkkoksa dh O;k[;k dhft;sA

UNIT-IV / bdkbZ-IV
8. Specify the relationship between  APC and relative

income and derive the expression from these
relationships which could clearly demonstrate all the
observed empirical regularities by Kuznet's and
Goldsmith between consumption and income. [10]
APC ,oa lkis{k vk; ds e/; lEcU/k dks Li"V dhft, ,oa bu
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